‘,, Unit 1 Study Guide Name: K L4 [

Matching: Classify each function on the left with its description on the right.

_Q_l- A= -2-(8)("‘1) a.  Arithmetic, Recursive

_&2- ' _6 )( Arithmetic, Explicit

— 3. ap=6-ay_4,a, =2 c. Geometric, Recursive
)( Geometric, Explicit

Matching: Match each sequence on the left with a formula on the right.

___..C 4. 30_5:—133—21 d. A, = 3(8)71—1
B 5. 4 20, 100, 500 / - et

'2 6. 36,18, 9,45, ... // a, = —8n+ 11
&

1, (—1)
iy, = 36 (z)

For each table below, determine if the sequence is arithmetic or geometric. Then tell what the constant ratio or
common difference is. Create the recursive for each.

8.
Term i VaT‘ue
G_f_(_)_ Number
0=X2 2 16 y2
A‘: 8 3 32
- 4 64
a AnAn X5 | 128

9. Below is an arithmetic sequence. Complete the table with the missing values.




|

16. Explicit: A - q "’3(1\'\)

D. Create the recursive and explicit formulas.

: ! {"\, e
R APISZ prshp X Sxp

X

14. Type of sequence: Aft_m/ ZMh Q
15. Recursive: A[’" ﬁ A,h‘; A[l;{ '3

19. Explicit:

-




0. Error Analysis: Who is correct?
-allie and Joseph are trying to find the common ratio, recursive formula, and explicit formula for the sequence

-5, —15,—45, 135, ... Their answers are provided. Is either one correct?

Callie’s Work '_ Joseph’s Work i
Common ratio: :-1—5- =3 \/ Common ratio: :-15 = \/
Explicit Formula: a, = =5(3)"™V / explicit Formula: a, =3(-5)""" ¥
Recursive Formula: @y = =3 @y, @ =-5 \( Recursive Formula: a, =3 ap-y @1 = =9 \/

Explanation:

odl\a m\m @ML* mO\u g it
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21. The distance (in inches) that a free-falling object falls in each second, starting with the first second, is given by

the geometric progression 0.5, 1.5, 4.5, 13.5,...Create the explicit and recursive function for this situation. Find

the distance that the object falls on the 20" and 45" second.




